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Reasoning and Problem Solving - Percentage of an Amount 2- Year § Expected

Percentage of an Amount 2 Percentage of an Amount 2
7a.elina says, 7b. Max says,

W

Explain Selina’s mistake and help herfind | Explain Max's mistake and help him find

‘ massmsien | ‘ P—

the correct answer. the correct answer.
8a. Which is the odd one ouf? 8b. Which s the odd one ouf?
A B c A B C
37.5% 22%of | | 32%of 18%of | | 12.5% | [17%of
of £296 £450 £175 £38 of £80 £52
Explain your reasoning. Explain your reasoning.

Could there be more than one answer? | Could there be more than one answer?
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9a. Find a pah 1o fhe gem by moving | 9b. Find a path fo fhe gem by moving
horizontally and vertically through the | horizontally and vertically through the
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